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At a store, a notebook costs $3 and a
pen costs $1. Mrs. Martinez spent
$20 for n notebooks and p pens. The
equation 3n + p = 20 represents the
situation. Which ordered pair (n, p)
represents how many items Mrs.
Martinez bought?

A (3,7
B (3,9
c (3,11
D (3,13)
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‘Which statement best describes
the similarities of the graphs

6x + 3y =20 andy = —2x + 5?
A The x-intercepts are the same.
B The y-intercepts are the same.
C The lines are parallel.

D The graphs are identical.
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‘What is the equation of the line that
contains the points (3, 7), and (0, 2)?

=3
A y75x+2
=5
B y73x+2
C y=3x+2

D y=10x+2
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The data displayed represent what type
of relationship?

A

C

a positive correlation where the y values are
exactly predicted by the line of best fit

a negative correlation where the y values are
exactly predicted by the line of best fit

a positive correlation where the y values are
approximately predicted by the line of best fit
a negative correlation where the y values are
approximately predicted by the line of best fit
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‘Which linear inequality is shown by the graph?

A y<1l5x+3
B y>15x+3
C y<15x+3
D y>15x+3
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What is the slope of the graph of
4x + 3y = 10?

4 3
A -4 c3
3 4
B -1 D3




